
𝑡௡ = 𝑡ଵ + (𝑛 − 1)𝑑

𝑠௡ =
𝑛

2
⎯⎯(𝑡ଵ + 𝑡௡)

𝑠௡ =
𝑛

2
⎯⎯(2𝑡ଵ + (𝑛 − 1)𝑑)

𝑡௡ = 𝑡ଵ𝑟௡ିଵ

𝑠௡ =
𝑡ଵ(1 − 𝑟௡)

1 − 𝑟
⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑠௡ =
𝑡ଵ − 𝑟𝑡௡

1 − 𝑟
⎯⎯⎯⎯⎯⎯⎯ 𝑠ஶ =

𝑡ଵ

1 − 𝑟
⎯⎯⎯⎯⎯

Sequences and Series

Trigonometry 𝑠𝑖𝑛𝜃 =
𝑂

𝐻
⎯⎯ 𝑐𝑜𝑠𝜃 =

𝐴

𝐻
⎯⎯ 𝑡𝑎𝑛𝜃 =

𝑂

𝐴
⎯⎯ 𝜃 = sinିଵ(+

𝑂

𝐻
⎯⎯)

𝑠𝑖𝑛𝜃 = 𝑦 𝑐𝑜𝑠𝜃 = 𝑥 𝑡𝑎𝑛𝜃 =
𝑦

𝑥
⎯⎯

𝑠𝑖𝑛𝐴

𝑎
⎯⎯⎯⎯ =

𝑠𝑖𝑛𝐵

𝑏
⎯⎯⎯⎯ =

𝑠𝑖𝑛𝐶

𝑐
⎯⎯⎯⎯ 𝑐ଶ = 𝑎ଶ + 𝑏ଶ − 2𝑎𝑏𝑐𝑜𝑠𝐶

Quadratics   𝑦 = 𝑎(𝑥 − 𝑝)ଶ + q  𝑦 = 𝑎𝑥ଶ + 𝑏𝑥 + 𝑐 𝑦 = 𝑎(𝑥 − 𝑧)(𝑥 − 𝑟)

Radicals 𝑎√𝑏
⎯⎯ 

+ 𝑐√𝑏
⎯⎯ 

= (𝑎 + 𝑐)√𝑏
⎯⎯ 

𝑎√𝑏
⎯⎯ 

× 𝑐√𝑑
⎯⎯ 

= 𝑎𝑐√𝑏𝑑
⎯⎯⎯ 

√𝑎 × 𝑎 × 𝑎
⎯⎯⎯⎯⎯⎯⎯⎯  = 𝑎√𝑎⎯⎯ 

Rationals 1

𝑎
⎯⎯+

1

𝑏
⎯⎯=

𝑎 + 𝑏

𝑎𝑏
⎯⎯⎯⎯⎯

𝑎

𝑏
⎯⎯×

𝑐

𝑑
⎯⎯=

𝑎𝑐

𝑏𝑑
⎯⎯⎯     

1

𝑎
⎯⎯+

1

𝑏
⎯⎯=

1

𝑐
⎯⎯

𝑏𝑐 + 𝑎𝑐 = 𝑎𝑏

√𝑥 − 2
⎯⎯⎯⎯⎯ 

= 4
   𝑥 − 2 = 16

Reciprocals 𝑦 =
1

𝑥 − 2
⎯⎯⎯⎯⎯Absolute Values 𝑦 = |𝑥 − 3|

Inequalities 𝑦 ≥ 𝑥 − 2 Systems 𝑦ଵ = 𝑦ଶ

 𝑥௜௡௧ =
−𝑏 ± √𝑏ଶ − 4𝑎𝑐

⎯⎯⎯⎯⎯⎯⎯⎯ 

2𝑎
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑥 − 2 ≥ 0

𝑎, 𝑏, 𝑐, 𝑑 ≠ 0

𝑦ଵ = 𝐿𝐻𝑆
𝑦ଶ = 𝑅𝐻𝑆

𝐿𝐻𝑆 = 𝑅𝐻𝑆

Arithmetic Geometric

𝑎√𝑏
⎯⎯ 

𝑐√𝑑
⎯⎯ ⎯⎯⎯⎯=

𝑎

𝑐
⎯⎯ඨ

𝑏

𝑑
⎯⎯

⎯⎯
 

𝑦ଷ = 𝑦ଵ ± 𝑦ଶ = 0
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